” Lecture 3: Fri, 11 Jan 2008
Reading quizzes: no talking, no looking in your books/notes
Q1. T/F - Maxwell’s main contribution to “Maxwell’s
Equations” (aside from organizing other people’s formulas)
was to modify Ampere’s Law so it became applicable to
dynamic situations.

- Q2. T/F - Faraday’s Law is a special Case of Ampere’s Law.

Q3. The “continuity equation”, also known as the “equation of
7~continuity” is which of the following:
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”“Lecture 4: Mon, 14 Jan 2008 |
Reading quizzes: no talking, no looking in your books/notes

Q1. Complete the four fundamental (“microscopic”) Maxwell
equations:
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Q2. Which two Maxwell’s equations must be modified to describe

electric & magnetic fields inside materials (to get the

“macroscopic” equations)?
N W =5

Q3. The wave equation given in the book for general use (i.e.
inside materials not just in vacuum) is the wave equation in a

vacuum, plus how many additional “complicated source terms”?
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